Recognise that measurements given to the nearest whole unit may be inaccurate by up to one half of the unit in either direction

	A possible measurement that could be given as 7 cm to the nearest centimetre
	The least possible width of five 600 mm wide kitchen cabinets if they have a tolerance of (2 mm

	The maximum value of a distance given as 6 cm if rounded to the nearest centimetre


	The minimum value of a distance given as 9 cm if rounded to the nearest centimetre
	The range of values for ‘d’ if d = 90 mm to the nearest 5 mm
	The range of values for ‘d’ if d = 8 cm to the nearest 0.5 cm

	The range of values for ‘d’ if d = 70 mm to the nearest 5 mm
	The least possible distance that could be rounded to 80 mm to the nearest 10 mm
	A possible width of five 600 mm wide kitchen cabinets if they have a tolerance of (2 mm
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